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1.
Refer to Rappaport, p. 289, Figure 6.19 and especially its caption.

Give a brief (one sentence or two) explanation of why the decision points don’t always correspond to the peaks of the envelope of the waveform.

2.
If the  1, 0, 1  data stream were sent with the Gaussian waveform exp[-(t2/T2], using BPSK, and if the resultant wave were sampled every T seconds, how much intersymbol interference would be encountered (worst case)? [Give answer in dB down from the level of the desired symbol.]

3.
How much SNR is needed to achieve a bit error rate of 10-6 for each of the following modulation schemes in an AWGN channel?

(a)
ASK

(b)
FSK

(c)
PSK

(d)
8-PSK  (i.e., M-ary PSK with M = 8). For this case, interpret the 10-6 rate as the symbol error rate. However, still use the energy per bit (not per symbol) as the “S” in SNR.

4.
What is the processing gain for a spread spectrum system at a 10 kb/s data rate if the chips are of 0.1 (sec duration?

